113-037( C-040) (1/1)

cm

10|20

10(20|30
0 10 20 30 40 50 60
E 0.40 0.4q =
E R =
E 0.800 0.40TTTYYTT e
E \VAVAVAVAY/ 05 ﬁ ‘/‘ E
NINANN 31 31| 3. E

\YAVAVAVAY)

IAVAYAYAYA 1.36
\YAVAVAVAY]
JAVAVAVAWAY
(YAYAYAYAY] 2.05
ANANAAN
\VAVAVAVAY]
IAAYAYAYA 2.35
\YAVAVAVAY]
IAVAYAYAYA
\YAVAVAVAY]

AYAYAVA 2051

0o
ISANCY
ENo

\UAYAVAVAY
IAYAYAYAYAY
\YAVAVAVAY)

3 3 /
/ / —
(VAVAYAYAY] 30 0| 4 =
NAAAN T 3
ANAAN 4.051 © 6 =
(VAVAVAVAY] =
ANANAN 3L | {31158 =
(YAYAYAYAY] 4.36 3
WYAYAYA 5.10 =
(VAVAVAVAY] =
NINANN 5.05| S 5 -
\YAVAVAVAY] —= / / —
NAAAN 30 ]| 9§ =
(VAVAVAVAY] 5.35 =
R AWAVAVAWAY =
0.302 B A B A 1 1
- 6.05 =
1/ / B
30 0| 1 =
6.35 =
0.7 =
7.05| 2 2 =
= 7/ / B
30 0| 2 =
7.35 =
8.05| 4 4 =
/ / =
32 32| 3.9 =
1.9 8.37 =
9.05| 13 13

. 50 50 — =
0.0:0 10.05| 7 i =
epXek 24 24 |62.9 =
07070 =
75965 10.29 E
07070 =
éoéoé 45 45 -
2070" (L1054 7 7 =
050,09 30 30| 4 =
59595 1.35 3
50504 E
2505C 12.05 7 f ]
05959 30 30| 47 ///A =
2.60 12.35 —"”’__‘,,—
18 18 =
13.05| 1f
30 30| 19

E 13.35 =
E 21 21 =
= 14.05| 2! Z =
E 30 30| 21 =
E 14,35 =
E 19 19 =

E 15.05| 1f y {

E 30 30| 19

H
&
w
&

JLLILLL




